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67.

68.

69.

70.

(e"-2)(-e*-1)=0

F,20:e"-220 = x2In2

F,20:-e*-120 imp. = x<1In2

|32X_3X|<2

-3 <2 3 -3-2<0
=

-3 >-2 I -3F+2>0

= -1<3 <2

§ t?-t-2<0 -1<t<?2
Pongo: 3" =t =

—
t>? -t+2>0 OxOR

<2 = x<log,2

3?2 -12
2X

< 22X+ 7[R -7-2%

2—
Pongo:2x=t:>12tt—lzst+7t2—7—t3

Faccio il minimo comune multiplo e posso semplificare il denominatore, visto che & 2%, che & sempre positivo:
12t —12-t* -7t + 7t +t" <0 = t' -7 + 11> + 7t -12<0
t-D)((t+)(t-3)(t-4)<0 = -1<t=<1[ 3<t<4
-1<2*<103<2°<4 = x<0 0O log,3sx=s2
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71.

72.

73.

74.

75.

2e¥* -9 +e +12<0
Pongo: € =t = 2t°-9t? +t+12<0

(t+1) (t—4) (2t -3)<0 = t<-1 0 gsts4 N

exs—lﬂésexs4:> In§3xsln4
2 2
2 X
3e 51
4 — ¢e*
2% 2X X
3e _12023e 4+ e >0
4 - ¢ 4 - ¢

Pongo: € =t = N=20:3t°+t-420 = ts—g Ot=z1l =

exs—gﬂelez x=0

D>0:4-e" >0 = <4 = x<In4 0<x<In4

(zxz —%j(ssx - 605> + 3[3*+ 10)<0

F20 = 2¥ -

Wik

>0 = xzzlogzé = x*=-log,3 OxOR

F,20 = ppge 5 =t = -6t +3t+1020 =

(t+1)(t-2)(t-5=20 = -1<t<2 [ t=5
-1<5 <2 0525 = x<log;2 0 x21 = log;2<sx<1

31 _gi* 1450
Pongo: 3 =t = 3t-12+4>0 = t2-3t-4<0 = -1<t<4

-1<3" <4 = 3" <4 = [x<log;4 = 0<x<logs

2 - 5 2 3 -5
+ <
2" -2 25 -5 5 -1
2 -t 2 3-t
+ —
2t -2 t?-t t-1

<0=>

Pongo: 5 =t =

2t —t* + 4 — 6t + 2t° t> —4t + 4 (t - 2)°
<0 > —————<0 = —"2_-<0
2t (t -1) 2t (t —1) 2t (t —1)

O0<t<10t=2 = 0<5<105 =2 = x<00x=logs2
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76. Ee”x” - eX;(e2X -e*-2)<0

el —ef|(e"-2)(e"+1)<0
F>20:e®7 -e20 = J2x+32Xx =

{2x+320 . {2x+32x2

3
= ——<X<3
x<0 x>0 2

F,20:e*-220 = x21In2

F,20:e"+120 = OxOR

77. 187 ¥+l 51

187¢ -3+ 518 —  2x2 -3x+1>0
—3i 9-8 ; = x<1Dx>1
ety 1 2
2
78. (5°)*<5
5 <5 = x2<1 = -l<x<1
1 -x-1 1 Xx+1
79. — > | —
3 -(3)
-X-1<x+1 = -=-2x-2<0 =

80. 4*-5[R2*+4>0
Pongo: 2 =t = t*-5t+4>0 = t,=

t<1 L t>4 = X<0 L x>2

g1 5**! < 25!

2x+2>0 =

x<In2 0 x=3

N w
IN

x>-1

5**l<5?"2  —  x+1<2x-2 = -x<-3 = x>3
X+3
w (1)
X+ 3 -2
(}J >(}j = X+3<-2 = Xx<-5
3 3




